VEAR 7 — DIRECTED NUMBER

Operations with equations and directed numbers

By the end of this unit you shotikd be. able o Subtract: toking away one number from another

Negdtive: i vale less than zero
Perform calevlations that cross zero .
e 00/ Sblract drected numbers Commutative: changing the. order of the operations does not change the resut
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*  Euddte dlgebraic expressions Inverse: the opposite. function
+ Solve two-step equations Square root: a square. root of a number is a number when muttivled by itseff gives the value (symbol \/'I
* Use order of operations with directed number Square: a term mulipled by itself

Expression: a maths senterce with a minmum of two numbers and at kst one math operation (no equds sign)

Remember square roots have. a :
positive and regative vale |
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Ihverse operations to find x
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| Perform cakulations that cross zero | : Ar-4--2 o Feprders
: Number lnes are. useful to help you visudise. the. catculation crossing O : I o T’ — 1" kft :
| 4— -2 L I‘T‘. .. o Use the number e to guide subtraction of 6 | : -1+1-0) -l I
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I \gmm a4 Find the dfference 10 | : |
: betwieen G and -4 I | |
I ] Rearrangements of ) From 6to O | | Parttioning |
) et the same equation 5-5-0 6 ol
0 4 From 0 to -4 I §+-3= - I
S S 4 - 1| =0 5+3+-3-5 |
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454320012345 543200123456 Generaisation
10 beads between th 107 | Partttion the vale to credte =
5 : U D : | a zero pair cakulation :
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| Subtract directed numbers @ -] | | Multiply/ Divide directed rumbers | Evaluate alaebraic expressions |
o=1 |l
I OO . ] - Representations I I w M =) =) I I [ a-= 5 ] [ b = —4. ] I
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“Subract” — mears toke I Two representations of | 9 - R2 2 - (412 |
| aviay of remove I : the same cakculation Ax-5--6 | OI; 35 by 4 I
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| | Neagtive, Negative caiculation
I O O . . = 5 [ | Il With negative numbers the brackets are important so I
| O O ’ O | | -AX -3 The act of : : that. it performs -4 x -4 :
| (2 2 o makin
| I | 000 000 wumfrg |1 Brackets around negative substitutions helps remove |
: I : Ths s the regative of 2x -3 nother | | cakution errors |
| negatie s | | |
[ 5 5.5 88;5 - |: breg || da-b-2x5-(4) 104 -1 |
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I Gereralsation I I _;I X _5 . 6 I I 3b - ;IOI - 3(_4I - ;II5I o I”I - IO - ﬁ I
I I : Diisions are the inverse operations I I
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ITWO'SICP CQUGIIOIIS 4+ 2-10 I : US@ OfCIef Or Opei mtIOYIS Brackets around neggtive
: Bor Mockl 0 Representing the same. || I Substitutia\g hels remove
question (use fact famies) || caleulation errors
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